PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				77,340	cords	
Hardwood				4,797	cords	
Pulpwood (Total)				82,137		
Chip & Saw (Total)				6,829	cords	
Saw Timber						
Pine				22,917,450	board feet	
Hardwood				751,738	board feet	
Saw Timber (Total)				23,669,188		
Total Pulpwood, Chip & Saw,						\$19,183,191
Saw Timber FOB Mill						
Total Forestry Stumpage						\$11,114,369
(Total)						
Christmas Trees (Total)	15			1,250	trees	\$50,000
Forestry (Total)						\$19,233,191
FRUITS						
Blackberries (Total)	40	22.0	1,750.00	38,500	pints	\$67,375
Blueberries (Total)	20	10.0	2,750.00	27,500	lbs.	\$44,000
Citrus						
Navels	*	3.0	100.00		bu.	\$6,000
Satsumas	10	10.0	150.00	1,500	bu.	\$30,000
Other Citrus	*	2.0	100.00	200	bu.	\$3,600
Citrus (Total)		15.0				\$39,600
Figs (Total)	10	4.0	90.00	360	lbs.	\$630
Mayhaws						
Native	35	125.0	25.00	3,125	lbs.	\$3,438
Orchard	*	10.0	40.00	400	lbs.	\$520
Mayhaws (Total)		135.0				\$3,958
Fruits (Total)		186.0				\$155,563
HAY FOR SALE						

HAY FOR SALE							
Grass (Total)	100	15,000.0	0.75	11,250	tons	\$675,000	
Hay for Sale (Total)		15,000.0				\$675,000	
Home Gardens (Total)	39,500					\$10,270,000	
NURSERY CROPS							
Floraculture & Bedding	10				acre	\$125,000	
Plants (Total)							
Woody Ornamentals (Total)	8				acre	\$900,000	
Nursery Crops (Total)						\$1,025,000	
PECANS							
Improved (Total)	40	225.0	20.00	4,500	lbs.	\$5,850	
Native (Total)	40	300.0	25.00	7,500	lbs.	\$6,750	
Pecans (Total)		525.0				\$12,600	
Rice (Total)	35	15,840.0	59.15	936,936	cwt.	\$6,605,399	
Soybeans (Total)	10	3,250.0	29.00	94,250	bu.	\$557,018	
SUGARCANE							
Raw Sugar (Total)	6	3,323.0	4,440.00	14,754,120	lbs.	\$1,810,331	
Molasses (Total)		3,323.0	133.00	441,959	gal.	\$92,811	
Sugarcane (Total)		3,323.0				\$1,903,142	
TOTAL ALL PLANT ENTERPRISES						\$40,436,912	
FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							

	FISHERIES &	<u> WILDLIFE ENTERPRISES PROD</u>	<u>UCTION</u>		
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm) (Total)	15	1,500 Acres in Prod.	900,000	lbs.	\$495,000
Aquaculture (Total)					\$495,000
FRESHWATER FISHERIES					
Freshwater Finfish (Total)	80		38,382	lbs.	\$33,726
Freshwater Fisheries (Total)					\$33,726
MARINE FISHERIES					
Shrimp (Total)	200		6,031,611	lbs.	\$7,131,174
Crabs (Total)	51		141,098	lbs.	\$124,420
Commercial Finfish (Total)	15		2,015	lbs.	\$1,259
Marine Fisheries (Total)					\$7,256,853
Fur Animals (Total)			711	pelts	\$6,897

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Alligators (Wild) (Total)				3,420	ft.	\$102,600
HUNTING LEASES						
Waterfowl (Total)	40	18,000	No. Acres		acre	\$270,000
			Leased			
All Other Game (Total)	20	12,000	No. Acres		acre	\$84,000
			Leased			
Hunting Leases (Total)						\$354,000
Honey (Total)	14	1,500	No. Hives	125,000	lbs.	\$73,750
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$8,322,826

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			7,500	head	\$3,998,138
400-500 lbs.			7,500	head	\$4,538,363
500-600 lbs.			1,625	head	\$1,067,763
Steer Calves (Total)					\$9,604,263
Heifer Calves					
300-400 lbs.			5,300	head	\$2,479,208
400-500 lbs.			4,600	head	\$2,516,499
500-600 lbs.			500	head	\$309,815
600-700 lbs.			3,100	head	\$2,162,901
Heifer Calves (Total)					\$7,468,423
Yearling Cattle					
600-700 lbs.			1,700	head	\$10,498
700-800 lbs.			1,200	head	\$8,010
Yearling Cattle (Total)					\$18,508
Cow-Calf Pairs (Total)			2,200	pair	\$2,154,086

⁴⁻⁵ months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

CATTLE & CALVES				C 000		#2.25 0.120
Cull Cows (Total)				6,000		\$2,378,130
Cull Bulls (Total)	44.0	42.500		475	head	\$440,824
Cattle & Calves (Total)	410	43,500	No. Cows			\$22,064,233
HORSES						
Brood Mares						
Race Horses	500	*	No. Brood Mares		head	\$7,560,000
Show Horses	375		No. Brood Mares		head	\$1,520,000
Recreation Horses	100	150	No. Brood Mares	60	head	\$90,000
Brood Mares (Total)						\$9,170,000
Stud Fees						
Race Horses			No. Stallions	1,725	mares bred	\$4,312,500
Show Horses		20	No. Stallions	120	mares bred	\$180,000
Recreation Horses		50	No. Stallions	225	mares bred	\$112,500
Stud Fees (Total)						\$4,605,000
Race Horses (Total)	500			1,900	head	\$22,800,000
Show Horses (Total)	375			750	head	\$3,750,000
Recreation Horses (Total)	2,500			4,100	head	\$6,150,000
Horses (Total)						\$46,475,000
RABBITS						
Fryers (Total)	45	900	No. Animals	4,500	lbs.	\$3,600
Does (Total)	25	275	No. Animals	2,200	lbs.	\$330
Rabbits (Total)						\$3,930
SHEEP						ŕ
Wool (Total)		800	No. Sheared	4,000	cwt.	\$1,000
Slaughter Lambs (Total)				-	head	\$49,271
Feeder Lambs (Total)				740	head	\$57,570
Show Lambs (Total)				100	head	\$30,000
Stocker Sheep (Total)					head	\$22,500
Cull Sheep (Total)					head	\$12,375
Sheep (Total)	80	800	No.Breeding		110444	\$172,716
Sheep (Total)	00	000	Ewes			ψ172,710
GOATS			LWCS			
Show Goats (Total)				450	head	\$101,250
Slaughter Goats (Total)					head	\$70,525
Stocker Goats (Total)					head	
Stocker Goats (10tal)				400	nead	\$34,600

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Cull Goats (Total)			175	head	\$10,500
Goats (Total)	125	1,000 No. Does			\$216,875
SWINE					
Show Pigs (Total)			400	head	\$114,000
Feeder Pigs (Total)			1,250	head	\$39,000
Slaughter Hogs (Total)			350	head	\$45,728
Culls (Total)			125	head	\$21,000
Swine (Total)	40	375 No. Sows			\$219,728
TOTAL ALL ANIMAL ENTI	ERPRISES				\$69,152,481

CALCASIEU PARISH \$117,912,219